Test: 2017 Primary 1 - Term 3 (CA2) Math (Rosyth)
Points: 40 points

Name: Score:

Date:

Signature:

Select multiple choice answers with a cross or tick:
Only select one answer

Can select multiple answers

Question 1 of 28 Primary 1 Math (Term 3)

Section A (Total 32 marks)

Read the questions carefully. Answer all questions.

Count the dots and type the number.

2 pts




Question 2 of 28 Primary 1 Math (Term 3) 1 pt

Look at the picture below.
(a) Write the number of triangles.




Question 3 of 28 Primary 1 Math (Term 3) 1 pt

Look at the picture below.
(b) Write the number of circles.

Question 4 of 28 Primary 1 Math (Term 3) 2 pts

Choose the smallest number.

7 tens 3 ones 59

36 9 tens

A) 7 tens 3 ones
B) 36

C) 59

D) 9tens



Question 5 of 28 Primary 1 Math (Term 3) 2 pts

Complete the number pattern.

O,

A) 41,42
B) 39,37
C) 41,34
D) 38,36

Question 6 of 28 Primary 1 Math (Term 3) 2 pts

How many more rabbits than carrots are there?

g
g

Carrots Rabbits

09
70

There are more rabbits than carrots.



Question 7 of 28

Primary 1 Math (Term 3)

Fill in the missing numbers. Choose the correct equation.

2 pts

AP

JAVA
JAVA
JAVAN
JAVAY
JAVAY

N\
JAVAN
JAVAN
JAVA
JAVAN

K

il

A) 2tens 5ones =25
B) 3tens 5ones=35
C) 4tens5ones =45
D) 5tens 5ones =55

Question 8 of 28

Fill in the missing number.

(a) 2 less than 73 is

Question 9 of 28

Fill in the missing number.

(b) 10 more than 49 is

tens Sones =

Primary 1 Math (Term 3)

Primary 1 Math (Term 3)

1 pt

1 pt



Question 10 of 28 Primary 1 Math (Term 3) 2 pts

Choose the shape that comes next in the pattern below.
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Question 11 of 28 Primary 1 Math (Term 3) 2 pts

How many fewer worms than birds are there?

S99 391930
LR

There are fewer worms than birds.

PSRN




Question 12 of 28

Primary 1 Math (Term 3) 2 pts

Arrange the numbers starting from the smallest. Put ‘space’ or ‘,” between your answers.
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Question 13 of 28 Primary 1 Math (Term 3) 2 pts

Choose the objects that has the shape of a rectangle.

C)

T L e T T -

i 12 1.2
10
9 3
Wil

'_ AP LTI R,

D).

Question 14 of 28 Primary 1 Math (Term 3) 1 pt

Type the smaller number.

263 or 36



Question 15 of 28 Primary 1 Math (Term 3) 1 pt

Type the smaller number.

(b) 72 or 77

Question 16 of 28 Primary 1 Math (Term 3) 1 pt

How many more marbles does Muthu have than Ali?

I have 20 marbie.s]

E hnvé 13 marbles.

Choose the correct equation.

A) 20+13=33
B) 13-7=6

C) 20-7=13
D) 20-13=7



Question 17 of 28 Primary 1 Math (Term 3) 1 pt

How many more marbles does Muthu have than Ali?

I have 20 murbies]

E have 13 marbles.

Muthu has more marbles than Ali.

Question 18 of 28 Primary 1 Math (Term 3) 2 pts

There are 6 fewer marbles in Jar B than Jar A.
How many marbles are there in Jar B?

A B




Question 19 of 28

Look at the shapes in Set A.

Set A

Primary 1 Math (Term 3)

-

.

Choose 2 shapes which belong to Set A.

A)

B)

C)

D)

2 pts



Question 20 of 28 Primary 1 Math (Term 3) 2 pts

Fill in the blanks with the correct answer.

R (e

Question 21 of 28 Primary 1 Math (Term 3) 1 pt

Section B (Total 8 marks)

Ahmad and Sam have 17 erasers altogether.
Ahmad has 8 erasers.
(a) How many erasers does Sam have?

A) 17-8=9
B) 17+8=25
C) 8-7=1

D) 17-7=10

Question 22 of 28 Primary 1 Math (Term 3) 1 pt

Ahmad and Sam have 17 erasers altogether.
Ahmad has 8 erasers.
How many erasers does Sam have?

(b) Sam has erasers.



Question 23 of 28

There are 4 chocolate muffins in a box.

There are 8 strawberry muffins in the same box.

(a) How many muffins are there altogether?

A) 8-4=4
B) 8-2=6
C) 8+4=12
D) 4+4=8

Question 24 of 28

There are 4 chocolate muffins in a box.

There are 8 strawberry muffins in the same box.

How many muffins are there altogether?

(b) There are muffins altogether.

Question 25 of 28

Mrs Lim made some cookies.

She gave 6 cookies to David.

She had 13 cookies left.

(a) How many cookies did she make?

A) 6+6=12
B) 13+13=26
C) 13-6=7
D) 6+13=19

Question 26 of 28

Mrs Lim made some cookies.

She gave 6 cookies to David.

She had 13 cookies left.

How many cookies did she make?

(b) She made cookies.

Primary 1 Math (Term 3)

Primary 1 Math (Term 3)

Primary 1 Math (Term 3)

Primary 1 Math (Term 3)

1 pt

1 pt

1 pt

1 pt



Question 27 of 28 Primary 1 Math (Term 3)

Team A scored 18 points in a game.
Team B scored 15 points.
(a) How many more points did Team A score than Team B?

A) 18+15=33
B) 18-15=3
C) 18-5=13
D) 15-3=12

Question 28 of 28 Primary 1 Math (Term 3)

Team A scored 18 points in a game.
Team B scored 15 points.
How many more points did Team A score than Team B?

(b) Team A scored more points than Team B.

1 pt

1 pt



